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Question -1) Which of the following, if true, would most weaken the argument that India’s bid
to host the 2036 Olympic Games is feasible?

A) India has consistently underperformed in recent international athletic competitions.

B) The Future Host Commission has rejected multiple bids from countries lacking prior Olympic
experience.

C) Several states in India lack the necessary infrastructure to host Olympic-level events.

D) The Indian government has successfully implemented the Khelo India Scheme to nurture young
athletes.
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Question -2) If the Government of Tamil Nadu fails to complete the Global Sports City project,
which of the following is the most likely consequence for India's Olympic bid?

A) India's bid will be rejected due to insufficient infrastructure.

B) The Union Government will allocate more funds to other states to compensate.

C) Tamil Nadu will lose its position as a leading state in sports infrastructure.

D) India’s Olympic bid will still proceed but will be less competitive.

Question -3) The author mentions the 2010 Commonwealth Games as a starting point for
India’s Olympic ambition. What assumption underlies this reference?

A) Hosting the Commonwealth Games automatically qualifies a country to host the Olympics.

B) Successfully hosting a major international sporting event demonstrates a country’s capability for
the Olympics.

C) The infrastructure built for the Commonwealth Games is sufficient for the Olympics.

D) The Commonwealth Games and the Olympics have similar organizational requirements.

Question -4) Which of the following best describes the author’s tone towards India’s Olympic
bid?

A) Skeptical but hopeful B) Cautiously optimistic

C) Indifferent D) Highly critical

Question -5) The passage suggests that the Khelo India Scheme has a significant role in India’s
Olympic bid. Which of the following, if true, would most support this claim?

A) The majority of India’s Olympic athletes were trained under the Khelo India Scheme.

B) The Khelo India Scheme has led to increased participation in sports at the grassroots level.

C) The Khelo India Scheme is primarily focused on sports infrastructure development.

D) Other countries bidding for the Olympics have similar schemes in place.

Question -6) What is the main assumption behind the author’s suggestion that leveraging
states like Tamil Nadu and Odisha could make India’s Olympic bid more cost-efficient?
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A) These states have all the infrastructure necessary to host the Olympics on their own.

B) The existing infrastructure in these states reduces the need for new construction, thereby
lowering costs.

C) Other states will not need to contribute to the infrastructure development.

D) The sports infrastructure in Tamil Nadu and Odisha is underutilized.
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